10 INK 1,24:INK 0,1:INK 2,20:INK 3,6

20 RANDOMIZE TIME:CALL &BBO3

30 GOSUB 790

40 GOSUB 650

50 CLS:GOTO 410

60 IF INT (RND#100)>98 AND FG=1 THEN GOS
UB 300

70 IF FG=0 THEN COU=COU-1:IF COU=0 THEN
GOSUB 290

80 IF WIK1 THEN SOUND 131,0,50,7,0,0,3:F
RED=REMAIN (1):VIDAS=VIDAS-1:IF VIDAS>0
THEN 540 ELSE GOTO 320

90 LOCATE A,B:PEN 1:PRINT CHR$(240):PRIN
T CHR$(22);CHR$(1):LOCATE A,B:PEN 3:PRIN
T CHR$(241):PEN 1:PRINT CHR$(22);CHR$(0)
100 IF E>0 THEN LOCATE C(E),D(E):PRINT "

110 IF E>180 THEN E=0
120 E=E+1

130 IF F>180 THEN F=0

140 F=F+1:C(F)=A:D(F)=B

150 X$=UPPERS (INKEYS$):IF X$="" THEN X$=Z

$

160 IF X$=L$ THEN T=FN T1:Z$=L$:A=A-1:GO
TO 210

170 IF X$=R$ THEN T=FN TR:Z$=R$:A=A+1:GO
TO 210

180 IF X$=U$ THEN T=FN TU:Z$=U$:B=B-1:GO
TO 210
190 IF X$=D$ THEN T=FN TD:Z$=D$:B=B+1:GO
TO 210

200 GOTO 60

210 IF T=0 GOTO 60 ELSE ON T GOSUB 230,2
50,270

220 ON FF GOTO 540,320,60

230 IF T=1 THEN FG1=0:SOUND 4,0,10,5,0,0
,8:FOR TO 3:F=F+1:IF F>181 THEN F=1
240 C(F)=A:D(F)=B:NEXT:SC=SC+100:LOCATE
#1,10,1:PRINT#1,USING"######" ;SC:FF=3:RE
TURN

250 IF T=2 THEN SOUND 4,0,10,5,0,0,8:FOR
N=1 TO 3 F+1:1F F>181 THEN F=1

260 C(F)=A:D(F)=B:NEXT:SC=SC+10:LOCATE #
1,10,1:PRINT#1,USING"######" ;SC: HOM=HOM+
1:IF HOM=20 THEN SH=SH+1:FRED=REMAIN (1)

=z

=1:RETURN
ELSE FF=3:RETURN
270 IF THEN SOUND 131,0,50,7,0,0,3:F

RED=REMAIN (1):VIDAS=VIDAS-1:1F VIDAS>0
THEN FF=1 ELSE FF=2
280 RETURN

1:1F FG1=1 THEN LOCATE AA1,BB1:PR
ETURN ELSE RETURN
NT (RND#$37)+2:BB1=INT(RND*18)+2
:IF FN CH=2 OR FN CH=3 THEN RETURN ELSE
SOUND 1,30,0,0,1:LOCATE AA1,BB1:IF RND<O
.5 THEN PEN
1 ELSE PEN 3
310 PRINT CHRS$(245):FG=0:FG1=1:C0U=100:R
ETURN
320 MODE 0:IF SC>VAL(MIDS$(A$(1),13)) THE
N PEN 15:PRINT"O SEU SCORE ESTA";TAB(7):
CHR$(10) ; "ENTRE OS DEZ los" ELSE GOTO 41

[

330 LOCATE 6,6:PEN 13:PRINT"NOME ?";CHR$
(10) ;TAB(3)" (MAX 10 LETRAS)":LOCATE 6,10
:PRINT STRING$(13," "):LOCATE 6,10:CALL
&BBO3: INPUT



" N$:N$=UPPERS (N§)

340 IF LEN(N$)>10 OR LEN(N$) <1 THEN 330
350 CHECK=10

360 WHILE SC(VAL(MIDS (A$(CHECK),13))

370 CHECK=CHECK-1

380 WEND

390 IF CHECK>1 THEN FOR N=1 TO CHECK-1:A
$(N)=A$(N+1) : NEXT

400 A$(CHECK)=N$+STRINGS (11- (LEN(N$))+(7
-LEN(STR$(SC)))," ")+STR$(SC

410 CLS:PEN 15:PRINT TAB(S)"}UGH SCORES
";CHR$(10) :FOR N=10 TO 1 STEP

420 PEN INT(RND#4)+1:PRINT TAB(Z) AS(N);
CHR$(10) ;

430 NEXT

440 CALL &BBO3

450 LOCATE 1,24:PEN 12:PRINT"PRIMA ";:PE
N 11:PRINT"C ";:PEN 12:PRINT"=CONTINUAR"
LOCATE 1 25 PRINT"OU ";:PEN 11:PRINT"
Q: " 2P

:PRINT "'OPCOES =

460 SC=0:SH=0:VIDAS=3

470 IF INKEY(62)<>-1 GOTO 520

480 IF INKEY(34)<>-1 THEN GOSUB 650:CLS:
GOTO 410

490 IF INKEY(58)<>-1 THEN INK 0,13:INK 1
,0:PAPER 0:PEN 1:BORDER 13:MODE 2:LIST
500 GOTO 470

510 DI:WI=WI-1:PLOT WI,4,1:DRAWR 0,8,1:1I
F WI=100 THEN SOUND 2,150,0,0,2:EI:RETUR
N ELSE EI:RETURN

520 INK 2,0:INK 0,0:INK 1,0:INK 3,0:BORD
ER 0:PAPER 0:MODE 1:WINDOW 1,40,1,21:WIN
DOW #1,1,40,23,23:WINDOW#2,2,39,2,20:PAP
ER #1,0

530 CLS:PEN 3:PAPER 0:FOR N=2 TO 20:LOCA
TE 1,N:PRINT CHR$(254);:LOCATE 40,N:PRIN
T CHR$(247);:NEXT:LOCATE 1,1:PRINT CHR$(
249) ; STRINGS

(38,CHRS (248) ) i CHR$ (250) ; : LOCATE 1,21:PR
INT CHR$(251);STRINGS(38,CHR$(253));CHRS
(252) ;

540 INK 2,0:INK 0,0:INK 1,0:INK 3,0:CLS#
2:PEN 3:PAPER 1:LOCATE 2,6:PRINT STRINGS
((SH MOD 6)#4,CHR$(244)):LOCATE 40-((SH
MOD 6)#4),15

:PRINT STRINGS ((SH MOD 6)#4,CHRS$(244))
550 IF SH>5 THEN PEN 3:PAPER 0:LOCATE 30
,2:GOSUB 640:LOCATE 10,15:GOSUB 640:IF S
H>11 THEN LOCATE 35,2:GOSUB 640:LOCATE 5
,15:GOSUB 64

0:IF SH>17 THEN LOCATE 25,2:GOSUB 640:LO
CATE 15,15:GOSUB 640

560 PAPER 0:LOCATE 10,5:PEN 1:PRINT CHR$
(240) : PRINT CHR$(22)+CHR$(1):LOCATE 10,5
:PEN 3:PRINT CHR$(241)

570 FOR V=1 TO 20

580 AA1=INT (RND#37)+2:BB1=INT(RND#18)+2
:IF FN CH=2 OR FN CH=3 GOTO 580

590 LOCATE AA1,BB1:PEN 2:PRINT CHR$(242)
:LOCATE AA1,BB1:PEN 3:PRINT CHR$(243):NE
XT:PRINT CHRS$(22)+CHRS(0):ORIGIN 0,0,0,1
00,12,4:CLG

3:0RIGIN 0,0,101,640,12,4:CLG 2:0RIGIN 0
,0,0,640,400,0

600 PEN#1,1:CLS #1:PRINT#1,TAB(4)"SCORE"
:LOCATE #1,10,1:PRINT#1,USING "#####4";S
C::LOCATE#1,30,1:PRINT#1,"VIDAS ";VIDAS:




INK 2,24:INK

0,0:INK 1.26:INK 3,6

610 HOM=0:Z=0:Z%= E=0:F=0:4=10:B=5:C(1
)=10:D(1)=5:FG=1:WI=639:EVERY 4,1 GOSUB
510

620 CALL &BBO3

630 GOTO 60

640 PRINT CL1$;:PRINT C12§;:PRINT C128;:
PRINT C12$;:PRINT C12$;:PRINT C13$:RETUR

N

650 MODE 0:PAPER 13:CLS:BORDER 22:PEN 5:
LOCATE 7,6:PRINT"KEYBOARD" : PRINT:PRINT T
AB(10)"QU" :PRINT:PRINT TAB(7)"JOYSTICK":

3
670 IF INKEY(37)<>-1 THEN DU$=INKEY$:GOT

0 700

680 IF INKEY(45)<>-1 THEN I$=CHR$(8):R$=
CHR$(7) :S$=CHR$(11) : D$=CHR$ (10) : GOTO 780
630 GOTO 670

700 CLS:PEN 6:PRINT "DEFINA O TECLADO":P
RINT TAB(5)"TAL COMO E PEDIDO":PEN 5:LOC

ATE 6,7:PRINT"ESQUERDA: " ; : CA &BBO3

710 L$=UPPERS$ (INKEYS$):IF L$ GOTO 710
ELSE PRINT L$

720 PEN 7:LOCATE 6,9:PRINT"DIREITA :";:C

ALL &BBO03

730 R$=UPPERS$ (INKEY$):IF R$="" OR R$=L$
GOTO 730 ELSE PRINT R$

740 PEN 3:LOCATE 6,11:PRINT"CIMA P
CALL &BBO3

750 U$=UPPERS$ (INKEYS$):IF U$="" OR U$=L$
OR U$=R$ GOTO 750 ELSE PRINT U$

760 PEN 8:LOCATE 6,13:PRINT"BAIXO Lty
CALL &BBO3

770 D$=UPPERS (INKEY$):IF D$="" OR D$=L$
OR D$=R$ OR D$=U$ GOTO 770 ELSE PRINT D$
780 FOR N=1 TO 200:NEXT:INK 0,0:INK 1,24
:BORDER 0:PAPER 0:RETURN

790 SYMBOL AFTER 199:SYMBOL 200,255,192,
127,63,26,26,26,26:SYMBOL 201,255,3,254,
252,88,88,88,88:SYMBOL 202,26,26,26,26,6
3,127,192,25

5:SYMBOL 203,88,88,88,88,252,254,3,255:S




YMBOL 204,26,26,26,26,26,26,26,26:SYMBOL
205,88,88,88,88,88,88,88,88

800 SYMBOL 249,255,180,205,182,157,210,1
72,187:SYMBOL 250,255,37,203,187,213,95,
169,149:SYMBOL 251,169,149,250,171,221,2
11,164,255:8S

YMBOL 252,221,53,75,185,108,179,45,255:§
YMBOL 253,0,40,102,218,89,2183,117,255
810 SYMBOL 254,168,252,198,248,154,228,1
40,240:SYMBOL 248,255,117,213,89,218,102
,40,0:SYMBOL 247,21,63,99,31,89,39,49,15
:SYMBOL 242,
0,126,24,60,126,126,126,60:SYMBOL 243,0,
0,29,2,0,0,0,0

820 SYMBOL 240,0,24,60,102,102,60,24,0:8
YMBOL 241,0,0,0,24,24,0,0,0:SYMBOL 244,2
38,238,0,187,187,0,238,238: SYMBOL 245,12
6,126,126,12

6,60,24,24,126:SYMBOL 246,0,42,84,42,0,0

,0,0

830 C11$=CHR$(200)+CHR$(201)+CHRS$(8)+CHR
$(10):C12$=CHR$(204) +CHR$ (205) +CHR$ (8) +C
HR$(8)+CHR$(10):C13$=CHR$(202)+CHR$(203)
840 REM

850 DEFINT A-R,T-Z:DIM C(181),D(181):SC=
0:SH=0:VIDAS=3:ENV 2,127,6,1:ENV 1,1,15,
1,14,-1,5,5,0,]
860 DIM A$(10)

870 5000"
880 4500"
890 4000"
900 3500"
910 3000"
920 2500"
930 2000"
940 1500"
950 1000"
960 500"

970 DEF FN TR=TEST((A*16)+7,((25-B)%16)+
8):DEF FN T1=TEST((A%16)-25,((25-B)%16)+
8):DEF FN TU=TEST ((A#16)-9,((25-B)%16)+
24):DEF FN T

D=TEST ((A*16)-9,((25-B)#16)-8):DEF FN C
H=TEST ((AA1%16)-7,((25-BB1)*16)+8)

980 RETURN



